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1. The utility-maximizing combination of goods occurs when: (a) the marginal utility of each good is equal
(b) the total utility of each good is equal (c) the quantity consumed of each good is equal (d) the marginal utility

per dollar spent on each good is equal

2. When a single-price monopoly is maximizing its profit, the level of output it produces is: (a) efficient
because profit is maximized (b) inefficient because P >MC (c) efficient because MR=MC (d) efficient because

costs are minimized

3.  When an agent lacks an incentive to promote the best interests of the principal, and the principal cannot
observe the actions of the agent, there is said to be (a) an optimal contract (b) monitoring (c) a separating

equilibrium (d) moral hazard

4. The labor supply curve bends backward if the: (a) income effect outweighs the substitution effect (b)

substitution effect outweighs the income effect (¢) demand for labor is elastic (d) demand for labor is inelastic

5. A normal good has: (a) an income elasticity of demand greater than 1.0 (b) a price elasticity of demand

greater than 1.0 (c) a positive price elasticity of demand (d) a positive income elasticity of demand

6. The intersection of the MC and ATC curves is the point at which: (a) average total cost is minimized (b)

average variable cost is minimized (¢) average fixed cost is minimized (d) total product is maximized

7. In an industry of monopolistic competition, when firms incur an economic loss, firms will: (a) enter the
industry, and demand will increase for the original firms (b) exit the industry, and demand will increase for the
remaining firms (¢) exit the industry, and demand will decrease for the remaining firms (d) enter the industry,

and demand will decrease for the original firms

8. Assuming money neutrality in the classical model, a 10% increase in the nominal money supply would
cause: (a) a 10% increase in the real money supply (b) a 10% decrease in the real money supply (c¢) no change
in the real money supply (d) a less than 10% change in the price level due to a shift in the aggregate supply

curve
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